7= miiEA

R
plan , AT EEEHNERRAGEERS EHERIERIRL,

M

03094-10 MEI A HFWEZBRAM AT EEE4F

Z YIHI MR M 1.4305,

| A
SZUEIMN , 2REELE,
KT EW.
Y g
|
7"
- D2 _
|
- N 3o}
—Y e '
. ¢ [ ! L
D3
~ D7 - -
D
swo
03094-10-10115 W 11,8 M10x1 15112 | 5| 15 | 8 1-2 16 1,5
03094-10-10125 Ml 11,8 M10x1 15112 | 4 | 15 | 8 2-3 16 2,5
03094-10-10135 Ml 11,8 M10x1 15112 | 3 | 15 | 8 34 16 3,5
03094-10-10145 Ml 11,8 M10x1 15112 | 2 | 15 | 8 4-5 16 4,5
03094-10-12115 Ml 13,8 M12x1,5 177 |14 | 7 | 1,5 | 10 1-2 17 1,5
03094-10-12125 LI 13,8 M12x1,5 17 | 14 | 6 | 1,5 | 10 2-3 17 2,5
03094-10-12135 Ml 13,8 M12x1,5 17 | 14 | 5 | 1,5 | 10 3-4 17 3,5
03094-10-12145 Ml 13,8 M12x1,5 17 | 14 | 4 | 1,5 | 10 4-5 17 4,5
03094-10-16120 EoE] 17,8 M16x1,5 22 | 18 | 8 2 12 1,5-2,5 22 2
03094-10-16130 Ml 17,8 M16x1,5 22 | 18 | 7 2 12 2,5-3,5 22 3
03094-10-16140 Ml 17,8 M16x1,5 22 | 18 | 6 2 12 3,5-4,5 22 4
03094-10-16150 Ml 17,8 M16x1,5 22 | 18 | 5 2 12 4,5-55 22 5
03094-10-16160 Ml 17,8 M16x1,5 22 | 18 | 4 2 12 5,5-6,5 22 6
03094-10-20120 Ml 21,8 M20x1,5 26 | 22 | 11 2 15 1,5-2,5 27 2
03094-10-20130 Ml 21,8 M20x1,5 26 | 22 | 10| 2 15 2,5-3,5 27 3

© norelem

www.norelem.com




03094-10 4RI/ FAMERBMA L I T SEEEp4

03094-10-20140 LI 21,8 M20x1,5 26 | 22 |9 2 |15 3,5-4,5 27 4
03094-10-20150 M 21,8 M20x1,5 26 | 22 | 8 2 |15 4,5-5,5 27 5
03094-10-20160 ME 21,8 M20x1,5 26 | 22 |7 2 |15 5,5-6,5 27 6
03094-10-110115 TEN 11,8 M10x1 1512 | 5|15 | 8 1-2 16 1,5
03094-10-110125 TEN 11,8 M10x1 1512 | 4 | 15| 8 2-3 16 2,5
03094-10-110135 TEMN 11,8 M10x1 15112 | 3 | 15 | 8 3-4 16 3,5
03094-10-110145 TEN 11,8 M10x1 15122 |15 | 8 4-5 16 4,5
03094-10-112115 W 13,8 M12x1,5 17 114 | 7 | 1,56 | 10 1-2 17 1,5
03094-10-112125 TEN 13,8 M12x1,5 17 114 1 6 | 1,56 | 10 2-3 17 2,5
03094-10-112135 TEWN 13,8 M12x1,5 17 114 | 5 | 1,56 | 10 3-4 17 3,5
03094-10-112145 TEMN 13,8 M12x1,5 17 |14 | 4 | 1,5 |10 4-5 17 4,5
03094-10-116120 TEMN 17,8 M16x1,5 22 | 18 | 8 2 112 1,56-2,5 22 2
03094-10-116130 TEN 17,8 M16x1,5 2 |18 | 7 2 |12 2,5-3,5 22 3
03094-10-116140 TEN 17,8 M16x1,5 22 | 18 | 6 2 |12 3,5-4,5 22 4
03094-10-116150 TEW 17,8 M16x1,5 22 | 18 | 5 2 112 4,5-5,5 22 5
03094-10-116160 TEMN 17,8 M16x1,5 22 | 18 | 4 2 |12 5,5-6,5 22 6
03094-10-120120 TEN 21,8 M20x1,5 26 | 22 | 11 2 |15 1,5-2,5 27 2
03094-10-120130 TN 21,8 M20x1,5 26 |22 10| 2 |15 2,5-3,5 27 3
03094-10-120140 TEN 21,8 M20x1,5 26 | 22| 9 2 |15 3,5-4,5 27 4
03094-10-120150 TEWN 21,8 M20x1,5 26 | 22 | 8 2 |15 4,5-5,5 27 5
03094-10-120160 TEMN 21,8 M20x1,5 26 | 22 |7 2 |15 5,5-6,5 27 6

© norelem www.norelem.com



